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!��" ���*�(( #� ���!�* ���I ��!���� ��������!"��( #�)��K����" ���-��� ���#���� �$�
5��'�*���$� ��� !"���$ ���L� ��!"K�� #���!�*��� ���-���� #�� ���-���% #��.����'
�����#������'�� )��� #� ������� �� ��#��'�*�� � #�!( 1�� ��� LH�% ������ #��
�����#������'�� # -��' ���(,���$% -����. ' ��*�-�% &!��������I �#�����
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 � !�������� Y���n ������ "!�"���" !����  **����!��#� ����$� &�������#�
��0���" $!������� ��$�& ��������!�$����� �  ���������- ������( ��!����� ������
��$��$�! � &��������� ��0���n ���#������� ��$�& ��������!�$�����m �������0�-
������� ���$���!�"�� ����� �$$���!��� ����$�! i,jm �������m ����� $��������-  ��R
����&�����m $������n� !����%����� ������������!���"m &�� ���!��"�� ��.���!����
��������� !���" �&���(

] ������ ����������� ��0���� $!������� ��������&����� ���!����- ! ����'�R
!�� ������"� ��� �������!�� ���!�- ���������( y�� ���!����" ���n� ����0�� ���R
&���� ! ��$�����!���� ������� #������!�$�!m ������  ���������- ������m ����#�R
$�*������!����#� �����"��" ���( }�������� ��0���� ����� ��$�& ����&��� ��������
�����"����� �$$���!���� ����$���v ,l �� ��������R�$�������- ����� Z�������#�w
pl �� ����� ���������� �����!����- �������q���*��$�w +l �� ����� ���������R
��n.�- �����!�� ��#����q���*��$�w 1l �� ����-��!� ���� ���.������" 	�����(


�����!����- !����  **����!��#� &�������#� ����$� ����#&����" ��� ����R
&�� "!��#� �������&����#� ��0���" ��$�&�( ��" ���!�%������, $!������� ��$�&
��������!�$����� ! ����'�!�� ������"� ��� �������!�� ���!�- ��������� �������R
&����� ��0���" $�!����� #�����$��m �� ���� ��������!���� �� ! ��&���!� �����!��
��$�&m �� ��0��� �����nm ���� ���������!��(
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��0���" ��$�&� ������� $�" �!�%��������� ���!����" ��������!�$����� ! ��R
�"���� ����$������ $�" ���#�!�#� ����'� ! �"$� &������ ���&��! ��!�����( ] ipj
��������� &����� ����$� �������!����� �� ���$�n.�- ��$�&�v

1

r

∂

∂r

(
r
∂T

∂r

)
+

1

r2
∂

∂ϕ

(
∂T

∂ϕ

)
= 0, k,l

r ∈ [R1, 2R1], ϕ ∈ [0, 2π],

T (R1, ϕ) = T1 + (T2 − T1) (1 + =6?2ϕ), ϕ ∈ [0, 2π], kpl

T (2R1, ϕ) = T2 + (T2 − T1) ?8>
2ϕ, ϕ ∈ [0, 2π], k+l

���n.�- ������� �������&����� ��0����v

T (r, ϕ) = (T2 − T1)

(
5

2
+

(
2R2

1

3r2
− r2

6R2
1

)
=6?2ϕ

)
+ 2T1 − T2.


$���� #����&��� ����!�" kplm k+l ��$�� !����&�n��" ! ������&����� ��$�&��(
] �����".�- ������ ���$���!���� ��!�� �������&����� ��0���� ����!�- ��$�&� $�"
���!����" ������� k,l ! ����'�!�- ������� ��� #����&��� ����!�"�

r = R1, ϕ ∈ [0, 2π] : T (R1, ϕ, t) = T0, k1l

r = R2, ϕ ∈ (−ϕ0, ϕ0) : T (R2, ϕ, t) = T 0
1 , k2l

r = R2, ϕ ∈ (ϕ0, 2π − ϕ0) : T (R2, ϕ, t) = T 0
2 , 0 < ϕ0 < π.

�����&��� ����!�" k2l ���!��"n� ��!����� 0�����- ����� ��$�&  ���������- ����R
�� � ������!�!0�#��" ����������� ������#� #������!�$� ��� ������ !�������� �#�
��#�������" ! #���� ipm +j(

"� '���
����
 ����
����
	��& �
�
��� ���������� !���$ �� ������!�!0�-R
�" ��%�� ������$�����" ����������� T = T (r, ϕ, t)m ��$��������#� ���!������ ���R
�����!�$�����

∂T

∂t
=
a

r

∂

∂r

(
r
∂T

∂r

)
+

a

r2
∂2T

∂ϕ2
, t > t0, krl

! ����'�!�- ������� G = {(r, ϕ), r ∈ [R1, R2), ϕ ∈ [0, 2π]} ��� ����!�� ����!�"� k1lm
k2lm $������������� ����!�� �����$�&����� �� ���������- ϕv

t > t0, r ∈ [R1, R2), ϕ ∈ [0, 2π] : T (r, ϕ, t) = T (r, ϕ+ 2π, t) kJl

� ��� �����"���� ��&������ ����!��

T (r, ϕ, t0) = Tb. kKl

]���&��� T0m T
0
1 m T

0
2 m Tb �&���n��" �����"�����m a q �� **�'���� �����������R

���!�$����� ���������( ���!�$�� ��#������ &�������#� ��0���" �����'�������-
��$�&� k1lxkKl �$$���!���� ����$���(

%� I��
����.����
�	�
� ���

 J


	������ y�� �����n��� ����-&�!�" ���R
������" ����� "!�"���" �$$���!��- �  ������&��-m ��� $�������� ����.���� �� ����R
������ ���!����" ��������!�$�����( 
������� ������� ! ���!����� krl ���$���!R
�"���" ! !�$� ����� $!�� ���������! Lrm Lϕv

∂T

∂t
= a(Lr(T ) + Lϕ(T )),
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Lr =
1

r

∂

∂r

(
r
∂

∂r

)
, Lϕ =

1

r2
∂2

∂ϕ2
.

������$ �� ���$�n.�- !�������- ���- !�����"���" ! $!�  ����(
���!�-  ���v

∂T

∂t
= aLr(T ) kXl

� ��&������ ����!��� kKl � #����&���� ����!�"�� k1lm k2l(
]����-  ���v

∂T

∂t
= aLϕ(T ) k,/l

� ����!��� �����$�&����� kJl( ] ��&���!� ��&�����#� ������$�����" �����������
��  ���  ���� ��������n��" ���&���" �����������m ����&����� �� ��0���" ����!��R
��!�n.�� ��$�& ���!�#�  ����(

]!�$���" ��!�������" ����������!����" ����� ω = {(ri, ϕj), ri = R1 + ihr, ϕj =
jhϕ; i = 0, . . . , Nr; j = 0, . . . , Nϕ} � 0�#��� hrm hϕ �� ���������� r � ϕ ����!����!��R
�� khϕ = 2π/Nϕm hr = (R2 − R1)/Nrlw {tn = nτ, n = 0, 1, . . .Nt} q ��!�������" �����
�� !������ � 0�#�� τ ( ��%$�- �����%���� !������ [tn, tn+1] �����!����" �����R

��� !������ tn+1/2 = tn + τ/2 �� $!� ��!��� &����w T
n+1/2
i,j q ����������� ! ����

(ri, ϕj , tn+1/2)(
�� ���!��  ���� $�" ��%$�#� j �$�������� ���!����� ��������!�$����� kXl ��R

�������������" �� ���$�n.�- ��"!��- ���������- ���������- �����v

T
n+1/2
i,j − T ni,j

τ
=
a

ri

((
ri +

hr
2

)
T
n+1/2
i+1,j − T

n+1/2
i,j

h2r
−
(
ri − hr

2

)
T
n+1/2
i,j − T

n+1/2
i−1,j

h2r

)
, k,,l

i = 1, . . . , Nr − 1.

]���%���" k,,l ������!�n��" ! !�$� ������&�&��� ���������� ���!����- � $����R
�"n��" ����!�"�� �� !��������- i = 0 � !��0��- i = Nr #����'�� ������� Gv

T
n+1/2
0,j = T0, k,pl

T
n+1/2
Nr,j

=

{
T 0
1 , j = 0, . . . , (n0 − 1) � j = (Nϕ − n0 + 1), . . . , Nϕ, n0 = ϕ0/hϕ,

T 0
2 , j = (n0 + 1), . . . , Nϕ − (n0 + 1).

k,+l

����&�!0�"�" ������� � ����$��#�������- �����'�- ��0����" ����$�� ���#����(
�� !�����  ���� $�" ��%$�#� i �$�������� ���!����� ��������!�$����� k,/l

���������������" �� ��"!��- ���������- �����

T n+1
i,j − T

n+1/2
i,j

τ
= a

T n+1
i,j+1 − 2T n+1

i,j + T n+1
i,j−1

r2i h
2
ϕ

, j = 0, . . . , Nϕ. k,1l

\��!����" k,1l ��!������ � ���������� �����#�� ����!�- �����$�&����� kJl

T n+1
i,j+Nϕ

= T n+1
i,j k,2l

���!�$"��" � ������� ���������� ���!����-

T n+1
i,Nϕ−1 − Ci,jT

n+1
i,0 + T n+1

i,1 = −Fi,0,
��' 4$� �
5�
� 
!$��)/4). +) �+) $�)� �4#"!+) $�)��� F;F�� �� ��� ���� 3 +1J



T n+1
i,j−1 − Ci,jT

n+1
i,j + T n+1

i,j+1 = −Fi,j , j = 1, . . . , Nϕ − 1, k,rl

T n+1
i,Nϕ−1 − Ci,jT

n+1
i,Nϕ

+ T n+1
i,0 = −Fi,Nϕ ,

Ci,j = 2 +
r2i h

2
ϕ

aτ
, Fi,j =

(
r2i h

2
ϕ

aτ

)
T
n+1/2
i,j .


����'�  ��- ������� �� ����� ����$��#�������#� !�$�( }���� �� ��0���m $�" ��%R
$�#� i ��������!���" ����$ '����&����- ���#����m ������-m ��� ��!����� i1jm "!�"��R
�"  ������&��� �����'������(

(� ����� ��	�
����� �
�	
�����& '��
��
KL����	�
� 
� 0�����
������"���" $�" ��0���" $!������� ��������&����� ���!����-( ��0���� ��$�&�
k1lxkKl  ��� ����$�� ���%� ���!�$���" ! $!�  ����(

�� ���!��  ���� ���!����� krl ���������������" ��"!��- ���������- �����- ��
���������- r � "!��- q �� ���������- ϕv

T
n+1/2
i,j − T ni,j

τ
= 0.5

(
Λr

(
T
n+1/2
i,j

)
+ Λϕ

(
T ni,j
))
. k,Jl

�� !�����  ���� �����������" "!��" ���������" ����� �� ���������- r � ��"!R
��" q �� ϕv

T n+1
i,j − T

n+1/2
i,j

τ
= 0.5

(
Λr

(
T
n+1/2
i,j

)
+ Λϕ

(
T n+1
i,j

))
. k,Kl

���������� ��������� Λrm Λϕ ������!�n��" ���$�n.�� �������v

Λr

(
T
n+1/2
i,j

)
=

⎧⎪⎪⎪⎨⎪⎪⎪⎩
a
(
1 + hr

2r0

)
T

n+1/2
1,j −Tn+1/2

0,j

h2
r

, i = 0,

a

((
1 + hr

2ri

)
T

n+1/2
i+1,j −Tn+1/2

i,j

h2
r

−
(
1− hr

2ri

)
T

n+1/2
i,j −Tn+1/2

i−1,j

h2
r

)
, i �= 0,

Λϕ
(
T ni,j
)
= a

T ni,j+1 − 2T ni,j + T ni,j−1

r2i h
2
ϕ

.

\��!����" k,Jl $�����"n��" ����!�"�� kKlm k,plm k,+lm � ���!����" k,Kl q ����R
!�"�� �����$�&����� k,2lw ! ��&���!� ��&�����#� ������$�����" �� !�����  ����
������"n��" ���&���" �����������m ����&����� �� ��0���" ��$�& �� ���!��  ����(

�� ���!��  ���� ���!����" k,Jl ���!�$"��" � ������&�&��� ����������m ����R
��� ��0�n��" ����$�� ���#���� $�" ��%$�#� j(

�� !�����  ���� ���������" ����������'�" k,Kl $�" ��%$�#� i ���!�$�� � �����R
�� ���� k,rl � ����!����!�n.��� �� **�'������� Ci,j m Fi,j ( ��0����  ��- �������
���!�$����� � ����.�n '����&����- ���#����(

]!�$� �#����&������� ��o��� ������ ��#������ ����$� �����������n.�- ��R
���!�� ��#����q���*��$� � ����$� ���.������" 	����� �� ���!�$���m ���$���!R
���� ������ ���������� ���&���! ������������- ��#��0����� &�������#� ��0���"
��$�&� k1lxkKl �� ����!� ����&����#� �������&����#� ��0���"(

)� +�
���������� 	�F���� ��
����
	���� �
	�
��
 �
�
�� -(/M-0/�
���$����� �������&����#� ��0���"  ��- ��$�&� ����n&����" ! ����&�� �����!� ���R
�������� ! #����&��- ��&�� kr = R2m ϕ = ϕ0l( ����������� �������&����� ��0����
���!��"�� �$�!���!����� #����&���� ����!�n � ��&��- �����!�( ]�����������" ��$R
��$��m ���$��%����� ! ������ i2j( ��� #����&��� ����!�"� k1lm k2l ������$������
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����������� ��������&�� ������������ ��&�- ϕ = πk kk = 0, 1lm �� ���� $������&��
��-�� ��0���� ��$�&� ! ������� ϕ ∈ [0, π]( ��" ��0���" ����!�- ��$�&� k,lm k1lm k2l
!�������"" ������� kr ∈ [R1, R2)m ϕ ∈ [0, π]l �����!����" �� ����� ��$�������v ) q
ϕ ∈ [0, ϕ0)w r ∈ [R1, R2)w )) q ϕ ∈ (ϕ0, π]w r ∈ [R1, R2)( ] ��%$�- �� ��� ������$������
����������� ���$���!�"���" ���$�n.�� �������v

TI(r, ϕ) = T0 + (T 0
1 − T0)

ln(r/R1)

ln(R2/R1)
+ T̂I(r, ϕ),

TII(r, ϕ) = T0 + (T 0
2 − T0)

ln(r/R1)

ln(R2/R1)
+ T̂II(r, ϕ).

k,Xl

L���'�� T̂I(r, ϕ)m T̂II(r, ϕ) "!�"n��" ��0���"�� ���!����" ������� k,l ��� �������^
�, #����&��� ����!�"� ! ������"� ) � ))v

T̂I(R1, ϕ) = T̂I(R2, ϕ) = 0, T̂II(R1, ϕ) = T̂II(R2, ϕ) = 0. kp/l

����!�� ��$�&� kp/l $�" *���'�- T̂I(r, ϕ)m T̂II(r, ϕ) ��0�n��" ����$�� ���$�����"
����������( 
�����" !����$��m ���!�$��  �� ��0���"v

T̂I(r, ϕ) =
∞∑
n=1

an
cosh(λnϕ)

cosh(λnϕ0)
sin

(
λn ln

r

R1

)
,

T̂II(r, ϕ) =

∞∑
n=1

bn
cosh(λn(π − ϕ))

cosh(λn(π − ϕ0))
sin

(
λn ln

r

R1

)
, λn =

πn

ln(R2/R1)
.

kp,l

�� **�'����� anm bn ! �"$�� kp,l ����$"��" �� ����!�- �������!����� *���'�-
TI(r, ϕ)m TII(r, ϕ) � �� �����!�$��� �� ���������- ϕ ��� ϕ = ϕ0m r ∈ [R1, R2)m �������
���n� !�$

an = (T 0
2 − T 0

1 )
2(−1)n+1

πn

tanh(λn(π − ϕ0))

tanh(λnϕ0) + tanh(λn(π − ϕ0))
, kppl

bn = (T 0
2 − T 0

1 )
2(−1)n

πn

tanh(λnϕ0)

tanh(λnϕ0) + tanh(λn(π − ϕ0))
. kp+l

L������ k,Xlm kp,lxkp+l ���$���!�"n� ����- ��&��� �������&����� ��0���� ����!�-
��$�&� k,lm k1lm k2l(

*� �����
 ����
������� ����
 ������ � ����������� 	��
� -" /N ����.
�����
2$��� �
�
���2 �������� 
�
����������� 	�F����� ����������m ��R
������m ��$������� )( L���'�" T̂I(r, ϕ) kp,l ���$���!���� �������&��� �"$��m ����R
��- �����m ��� �����$�� ��������m  �������'������n ���$������( |���0�� *���'�n
T̂I(r, ϕ) kp,l ���v

T̂I(r, ϕ) =

N∗∑
n=1

Sn +
∞∑

n=N∗+1

Sn,

Sn=
2(T 0

2 − T 0
1 )(−1)n+1

πn

tanh(λn(π − ϕ0))

tanh(λnϕ0)+ tanh(λn(π−ϕ0))

cosh(λnϕ)

cosh(λnϕ0)
sin

(
λn ln

r

R1

)
. kp1l

]�����������" ��%�����n.�� �"$�� � �'���� &���� N∗ &����! �"$�m ��&���" � ��R

����#� ����� �������&��#� �"$�

( ∞∑
n=N∗+1

Sn

)
��$�� ����0� ��$����- ����- !���&�R

�� ε0 k! �l( 
�����" !����$��m ���!�$�� ��-$����n �'���� N∗(ε0) $�" ��$������� )v
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N∗(ε0) �
1

β

(
ln

α

ε0(exp (β)− 1)

)
, α =

4(T 0
2 − T 0

1 )

π
, β =

π(ϕ0 − ϕ)

ln(R2/R1)
, ϕ ∈ [0, ϕ0).

����� �������m *���'�" T̂I(r, ϕ,N∗) =
N∗∑
n=1

Sn � ��&�����n $� ε0 "!�"���" ��0�����

���!����" k,l � #����&���� ����!�"�� T̂I(R1, ϕ) = T̂I(R2, ϕ) = 0 ! ��$������� )( ���
ϕ = ϕ0 = π/2 !���%���� $�" Sn kp1l ����.����" � �������&��- �"$ $�" T̂I(r, ϕ) kp,l
����������"m *���'�" T̂I(r, π/2) ����� !�$

T̂I(r, π/2) =

(
T 0
2 − T 0

1

2

)
ln(r/R1)

ln(R2/R1)
, r ∈ [R1, R2).

���� ϕ0 �= π/2m �� �� ��&� ϕ = ϕ0m ����n&�" �����n ��&�� r = R2m �'���� N∗(ε0)
����%�"���"m �� �� ���$���!�"�� ����'��������- ���$�����(

�����#�&��� ������� ����&�n��" �'���� $�" *���'�� T̂II(r, ϕ) kp,l ! ��$��R
����� ))(

,� L������
�� 	
������� ��" ��%$�#� ������ ���������! ��$�&� k1lxkKl ���R
�&���!���" ������ !������ t∗m ��&���" � ������#� � ��$����- ��&�����n ε ������!R
��!����" ���'�������� ������$������ ����������� T ∗

i,j(
��" ���!����"  **����!����� ���������!����� &�������� ����$�! !�&���"R

���� !���&��� δ(k) q ������� �� ��
��!� G �!����!�
���� �����_���!� ���-�!�
!������!��, �� k^�� ��!��� �
� �����!� �������
 ��
�_��� �����!� t∗v

δ(k) =
1

NϕNr

Nϕ−1∑
j=0

Nr−1∑
i=0

(
|T a(ri, ϕj)− T

(k)∗
i,j |

T a(ri, ϕj)

)
. kp2l

] kp2l T a(ri, ϕj) q �����������m ����$������" �� ��-$������ �������&������ ��0�R

��n kp,lxkp+lm T
(k)∗
i,j q ����������� ! ���� (i, j) ! ������ !������ tn > t∗m ����&�R

�����" �� ��#������ kR#� &�������#� ����$� ��� �$��� � ��� %� ���&���"� 0�#�!
hr, hϕ, τ k��� ��������A σ = 0.9 k = 1 ����!����!��� ���&��� �� ��������R�$�������-
����� Z�������#�m k = 2 q �� ����� ���������� �����!����- �������q���*��$�m
k = 3 q �� ����� �����������n.�- �����!�� ��#����q���*��$�m k = 4 q �� ����-R
��!� ���� 	�����l(

] ��&���!� ���n����'�� ���&���! !���&�� δ(k) ���$���!�� ���������� !�&����R
��- ��� ���$�n.�� !������� ���������! ��$�&�v

R1 = 0.5 �, R2 = 0.54 �, ϕ0 = π/2, Tb = 283.15 �, T0 = 293.15 �, T 0
1 = 278.15 �,

T 0
2 = 283.15 �, a = 5.33 · 10−6 �2/=, Nϕ = 240, Nr = 41, τ = 0.001 =. kprl

���  ��� ���������� !���" t∗ !���$� &�������#� ��0���" ��$�&� k1lxkKl �� ������R
!�!0�-�" ��%�� � ��&�����n $� ����� #��$��� t∗ ≈ 9.6 ���( ����&���!� N∗ &����!
�"$�m ������&�!�n.�� ��!������� �� !��� r � ϕ �� ���&����- ������� ��&����� ���R
����&����#� ��0���" ���"$�� 10−8 N∗ = 19( ���!�$�� ���������� ���&���! ���$��-
������������- ��#��0����� δ(k) ���������� ! �( , ����$��� $�" !������� �������R
��! kprlv

δ(1) = 7.71 · 10−4w δ(2) = 6.57 · 10−4w δ(3) = 7.75 · 10−4w δ(4) = 7.83 · 10−4(
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,� 1
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����" ��������!�$����� ! ����'� � ���$����$���� #����&���� ����!�"�� �� ϕ $�"
������ !�������! ���������! ��$�!��$��� !�!�$m �$������- ! ������ ipjv ��������
 **����!��� $�" ��0���" ����� ��$�& "!�"���" ����$ �������q���*��$�( ���
�$��� � ��� %� ���&���"� 0�#�! �� ��&��� ! ���&���� !�������� �������������
� �� �������� $��#�� ������������� ����$�� ! ��&����� ���&��� ����������!����R
#� ������$�����" �����������( 
$���� ����.���� ����$� �������q���*��$� ��
���������� ��$�&� ����"%��� � ����0��� ���$����"�� i,j( y��#� ��$������� ��R
0��� ��������R�$�������" ����� Z�������#�m ��&����� ���&��� ����������!����#�
������$�����" ����������� ������- �� ����0�m &�� � ����$� �������q���*��$�(

��-$����� �������&����� ��0���� ����!�- ��$�&� $�" $!������#� ���!����"
������� ����� ���%� ����0�� ���&���� ! ��$�&��  ���������- ������ $�" ���&���
���" *�������n.�� ������ ��� ������������!�� ��&��! ���"%����� &����' ! ����R
��������- ������� �  ���������- ����������� i2j(
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